
Home > Vacuum Technology for Automation > Vacuum Components > Mounting Elements > Modular Gripper System PXT > Mounting Profiles MO-
PROF PXT > MO-PROF 25x30x3000 1TN AL
 
Aluminium profile for construction of vacuum-gripping systems
  

 

 
Design Data
  

 

 
Technical Data

 
 

 
Accessories

Length L: 3,000 mm

Width B: 25 mm

Height H: 30 mm

Form: with 1 T-slot

Attribute Value

B 25 mm

d 3.50 mm

H 30 mm

L 3000 mm

Attribute Value

Material Aluminum

Form with 1 T-slot

Weight 2,236.70 g

Mounting profile
MO-PROF 25x30x3000 1TN AL
Part no..:26.07.01.00498

https://www.schmalz.ru/26.07.01.00498

Contact Schmalz
OOO Schmalz | Mozhayskoe highway 165, bdg1, 121596 Moscow, Russia | +7 495 9671248 |
post@ruschmalz.ru

Page 1 from 5

https://www.schmalz.ru/en-ru/
https://www.schmalz.ru/en-ru/category/PGE-00000
https://www.schmalz.ru/en-ru/category/PGE-00155
https://www.schmalz.ru/en-ru/category/PGE-00156
https://www.schmalz.ru/en-ru/category/PGE-15954
https://www.schmalz.ru/en-ru/category/PGE-15956
https://www.schmalz.ru/en-ru/category/PGE-15956
https://www.schmalz.ru/en-ru/


  

  

  

ROHR-ENTGR VEE
Part no..:10.01.36.00043

Construction use: Vacuum end effector

ROHR-ENTGR PXT
Part no..:10.01.49.00079

HP-HT 2M8 56 HT-A3
Part no..:10.07.06.00733

Shape: Universal holder

Connection profile: 2x screws M8

Width B: 56 mm

Construction use: Holder tooling ball head 28.5

Mounting profile
MO-PROF 25x30x3000 1TN AL
Part no..:26.07.01.00498

https://www.schmalz.ru/26.07.01.00498

Contact Schmalz
OOO Schmalz | Mozhayskoe highway 165, bdg1, 121596 Moscow, Russia | +7 495 9671248 |
post@ruschmalz.ru

Page 2 from 5

https://www.schmalz.ru/en-ru/


  

  

  

HP-SE-U 1M6 12/18
Part no..:10.07.06.00719

Connection profile: 1x screw M6

Internal diameter d: 12 mm

Internal diameter d1: 18 mm

HP-FST 2M6 35 M18x1.5
Part no..:10.07.06.00722

Connection profile: 2x screws M6

Width B: 35 mm

Thread G: M18x1.5

HP-FST 2M6 35 M20x1.5
Part no..:10.07.06.00723

Connection profile: 2x screws M6

Width B: 35 mm

Thread G: M20x1.5

Mounting profile
MO-PROF 25x30x3000 1TN AL
Part no..:26.07.01.00498

https://www.schmalz.ru/26.07.01.00498

Contact Schmalz
OOO Schmalz | Mozhayskoe highway 165, bdg1, 121596 Moscow, Russia | +7 495 9671248 |
post@ruschmalz.ru

Page 3 from 5

https://www.schmalz.ru/en-ru/


  

  

  

HP-SG 2M6 E 35 G1/4-AG
Part no..:10.07.06.00712

Connection profile: 2x screws M6

Width B: 35 mm

Suction cup connection: G1/4"-M

HP-SG 2M6 E 35 G3/8-AG
Part no..:10.07.06.00715

Connection profile: 2x screws M6

Width B: 35 mm

Suction cup connection: G3/8"-M

HP-SG 2M6 E 35 G1/4-IG
Part no..:10.07.06.00716

Connection profile: 2x screws M6

Width B: 35 mm

Suction cup connection: G1/4"-F

Mounting profile
MO-PROF 25x30x3000 1TN AL
Part no..:26.07.01.00498

https://www.schmalz.ru/26.07.01.00498

Contact Schmalz
OOO Schmalz | Mozhayskoe highway 165, bdg1, 121596 Moscow, Russia | +7 495 9671248 |
post@ruschmalz.ru

Page 4 from 5

https://www.schmalz.ru/en-ru/


 

HP-SG 2M6 E 35 G3/8-IG
Part no..:10.07.06.00717

Connection profile: 2x screws M6

Width B: 35 mm

Suction cup connection: G3/8"-F

Mounting profile
MO-PROF 25x30x3000 1TN AL
Part no..:26.07.01.00498

https://www.schmalz.ru/26.07.01.00498

Contact Schmalz
OOO Schmalz | Mozhayskoe highway 165, bdg1, 121596 Moscow, Russia | +7 495 9671248 |
post@ruschmalz.ru

Page 5 from 5

https://www.schmalz.ru/en-ru/

